Chapter 5 Final Review

1. State the domain and range and wether each relation is a function.
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2. Find the rate of change for each linear relation below.
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rate of change = bm = 3 m/
2s
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Range: {’3n’z|"|: | )30 ""}
Function: Yes
5 .
(G4 (2.4)
\““; \_
5 (-1,0) ° °(5,0)

)
Range: _ 0 €y <&

Function:

Yes

Helicopter Lifting Off

A360‘
(120, 240)

A 4 + + 4+ "

160, 120)

t

| 60 120 180

- Time{(s) -

rote of change

= rise

60s
- Z'”/s



3. This table shows the cost of prizes for the school carnival.

a) Graph the data. Choose an adequate scale for the vertical axis.

Cost of Prizes for the School Carnival

Number of prizes | Total Cost (S)
1 6 o0 .
) |
2 12 & ys
4 '
6 24 Y
12 42 2w
-8 °
20 60 2 7] .
— 1 e
6o
b) Does it make sense to join the points? ) 4 8 1-2 ‘1‘6 20

Justify your answer.
No. Cannot have
half/portion of o prize.
c) Is the relation a function? Justify your answer.
Yes (*x* does not
repeat)
d) State the domain and range.
D: {1,2,6,12,20}
R: { 5,|2,1.4.¢z.bo}

4. Which table of values represents a linear relation? Explain how you know.

Number of prizes purchased

5. Given the function

f()=-4x+3 gy f(=5)

f(-s) = -4(-5) «3

-
-

f(-s) =

20 +3

2%

Final Review Page 4

9 Time (s) Distance (m) 2 Time (s) Distance (m)
# O 0y, Inet al’ ° 4,
S 1% conslant b 5 ¢
+ ¢ Y4} Cons +l ({ Yes corstont
constond ’&2 2( ' comhn%'?z 0 ¢
R K Als Hy 3 15 %
- J+u #{ >
y 4 8 d 4 20
Not linear linear



6. Given the function g{m=n“—3n+8 . Find:

q(-2) = (-2)*-3(1) +8

= 44+6+8

7. Given the function /(1) =3-8n

-985=3-8n
-3 -3
-~ 88 = -8n

. Find the value of nwhen /(1) =

g(—2)

3(-1) =18

-85

inH=n

e 2 N
8. Given the function f(x)=5x-6 . Find the value of @when f(x) =41

¥ = Sx-6
+0b +6

—35 =5« =7

s S
9. Given the graph of the function:

o€— o
B
N
0 5 8 10

10. Given the graph of the function:

_ (x-valve ) (y-valve)
a) Find the domain value when the range valueis 6 .

X=-2

b) Find the range value when the domain value is 8.
(y-value) (x-value)

y=!

a) Find the domain value when the range valueis =3 .
X s -3
b) Find the range value when the domain value is 6 .

y=-2

Additional Practice: p.326 #3-6,8,9,11,13,16-18
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